

#### Available online at www.ap.ardabil.iau.ir

#### Islamic Azad University, Ardabil Branch

Anthropogenic Pollution Journal, Vol 6 (2), 2022: 73-79

ISSN: 2783-1736- E-ISSN: 2588-4646



### ORIGINAL RESEARCH PAPER

# Environmental Management of Forest Fire Risk Using A'SWOT Analysis Model (a Case Study: Forest Parks in the Southern Slopes of Alborz, Iran)

# Behzad Bozorgmer<sup>1</sup>, Mina Macki Aleagha<sup>2\*</sup>, Azita Behbahani<sup>2</sup>

- <sup>1</sup>Ph.D. student in environmental management, Department of Environmental Sciences and Engineering, Rudehen Branch, Islamic Azad University, Rudehen, Iran
- <sup>2</sup> Assistant Professor, Faculty of Environmental Sciences, Department of Environmental Sciences and Engineering, , Rudehen Branch, Islamic Azad University Rudehen, Iran

#### **ARTICLE INFORMATION**

Received: 2022.12.19 Revised: 2023.01.10 Accepted: 2023.01.27 Published online: 2023.02.02

DOI: 10.22034/AP.2023.1975447.1141

# **KEYWORDS**

Environmental Management Fire Risk Forest Park SWOT AHP

#### ABSTRACT

Fire can destroy forest areas along with air pollution and health hazards. The forest parks of the southern slopes of Alborz, Iran, are amazing tourist destinations for people in surrounding cities. Therefore, we determined the capabilities and limitations and formulated the best strategies to prevent and control fires using SWOT-AHP (A'SWOT) combined method. First, SWOT technique detected internal factors (strengths, or S, weaknesses, or W) and external factors (opportunities, or O, threats, or T) based on open-ended questions from local communities and experts. Then, AHP analysis model and Likert scale were performed to prioritize the best strategies as SO, WO, ST, WT solutions. The results showed that the most important factors in fire risk management, in order of the highest relative weight, were "easy access to forest park" (0.77), "lack of budget" (0.459), "existence of road networks" (0.76), "decrease in motivation and interest of volunteer and public forces" (0.417) in the strength, weakness, opportunity and threat groups, respectively. Further, the most important fire risk management strategies from the SWOT matrix and AHP method and scoring with a Likert scale, respectively, were "planning in accordance with the degree of fire risk for each part of the forest park" (0.715), "deploying quick reaction force and firefighting equipment at the appropriate point of the forest park" (0.685) and "updating knowledge in the field of fire risk management" (0.635). The A'SWOT technique was found to be appropriate in identifying the effective factors and providing operational strategies to prevent and control forest fires

**How to Site:** Bozorgmer B, Macki Aleagha M, Behbahani A.., Environmental Management of Forest Fire Risk Using A'SWOT Analysis Model (a Case Study: Forest Parks in the Southern Slopes of Alborz, Iran), Anthropogenic Pollution Journal, Vol 6 (2), 2022: 73-79, DOI: 10.22034/AP.2023.1975447.1141.



## 1. Background

Environmental risks have always been one of the most important concerns in natural resources, and planning to deal with and prevent these risks and their harmful effects has been one of the most fundamental issues of natural resource management (Ghasemi Aghbash and Fataei, 2006). The collection of environmental and natural factors such as topological, geomorphological, climatic and hydrological features along with anthropogenic factors, generally provide the strengths (S), weaknesses (W), opportunities (O) and threats (T), called SWOT, to the biosphere of forest areas (Haji Alizadeh et al., 2011). One of the most important hazards in forest areas is fire, which can be caused by environmental or anthropogenic factors (Sarvar et al., 2012).

Fire, as one of the most common and important environmental disasters, causes numerous and irreparable damages with profound environmental, social and economic effects (Jellouli, Bernoussi, 2022). Therefore, finding appropriate solutions at any time in order to prevent and manage this harmful phenomenon has always been one of the needs of environmental managers and planners (Gazmeh, 2012). Many factors may affect a forest fire. Height, slope and proximity to roads and residential areas have been among the main factors influencing the occurrence and spread of fire in eastern Kentucky in the United States. In addition, distance to railways and roads and daily maximum temperature and rainfall have been found to influence the occurrence of anthropogenic fires in the Madrid region of Spain (Maingi and Henry, 2007). Forest fire prevention is one of the examples of natural crises, and dealing with it is called crisis management (Hosseinali, 2007). Therefore, identifying the major factors of fire crisis in the forest is of great importance (Gorte and Bracmort, 2012). In general, forest fire crisis management includes not only the process of predicting and preventing the occurrence of a crisis, but also dealing with, intervening and recovering after a crisis (Taleai et al., 2009).

One of the management analysis methods that is used in combination with Analytic Hierarchy Process (AHP) analysis is SWOT (strengths, weaknesses, opportunities, and threats) analysis (Fataei et al., 2022). In the SWOT analysis, it is not clear which group is more important among the four constituent groups. In these groups, only the most important factors of the four are identified, without specifying the superiority of each of these factors or criteria over each other (Miraki et al., 2014). In other words, the SWOT analysis is qualitative in nature and this cannot be a comprehensive assessment of the strategic situation of the system. The fact that the significance of each factor cannot quantitatively measure the criterion for decision-making is considered as the main limitation of SWOT analysis (Zandbasiri and Ghazanfari, 2010). Therefore, in order to improve this decision-making system, AHP is used to compare factors within each category of the four groups (Fataei et al., 2013). In this method, the most experienced experts are used to compare

the factors of the SWOT table in pairs, instead of using the quantity of decision makers (Fataei, 2015). In other words, all the weaknesses, strengths, threats and opportunities of the organization are compared in pairs based on the comparison of the role of each factor in the performance of the organization's program (Nami et al., 2017; Fataei and Alsheikh, 2018).

Limited research has been done regarding the presentation of management strategies using SWOT-AHP (A'SWOT) combined method. A group identified and compared the factors affecting the exploitation of pastures using the AHP-SWOT model from the point of view of operators and experts (Kargar et al., 2019). They found that only three factors, including "lack of coordination and lack of trust between experts and operators of pastures", "the existence of the feudal system in pasture livestock farming" and "the opportunity to expand income from livestock production" had the same priority from the point of view of experts and operators (Sharifiyan et al., 2014). In providing management solutions to deal with fire using decision support system in Northern Zagros forests in Marivan city area, Iran, using A'SWOT method (Miraki et al., 2014), it was found that "employment and income" with a final weight of 0.106, "timely access" with a final weight of 0.069, and "efficiency" with a final weight of 0.068 were the most important factors influencing crisis management solutions, and "preventing the spread of fire in the forest" with a final weight of 0.123, "speed of action" with a final weight of 0.120 and "possibility of creating employment" with a final weight of 0.118 were recognized as the most important risk management solutions in the region. Mohammadi et al. (2010) used the AHP method to identify the effective factors in the occurrence and spread of fire and showed that the obtained map was very similar to the actual locations of fire.

The forest parks of the southern slope of Alborz in the watershed of the Vesiye Valley region in Alborz province, Iran, are exposed to risks due to their special geographical location and the accessibility of local people and their strong dependence on these resources, especially in its rural areas. This forest area is affected by many destructive factors, including natural and unnatural fires, agricultural land development, livestock breeding, fuel supply, exploitation of by-products, and pests. At the time of the fire crisis in this area, there was no written management solution reported by the relevant organizations, and most of the methods are traditional and based on experience. Therefore, it is necessary to use comprehensive scientific tools and the experiences of experts in order to make a suitable decision in this field. Therefore, the present study identified and evaluated the most important influencing factors to deal with the risk of forest fire from inside (strengths and weaknesses) or outside (opportunities and threats) the organization, as a basic strategy to deal with fire in the forest park of the southern slopes of Alborz using the multi-criteria decision-making method of AHP-SWOT (A'SWOT) in order to provide a scientific solution.

# 2. Materials and methods

Forest fire risk management requires solving existing gaps and identifying appropriate solutions to solve this problem. There are various tools to investigate this issue and identify the strengths, weaknesses, opportunities and threats of fire risk. One of these techniques is SWOT analysis based on the opinions of experts and local people. The most important feature of SWOT is the ability to analyze data and develop strategies without the need for quantitative analysis and mathematical calculations (Kazana et al., 2015). SWOT analysis is an efficient tool to identify the environmental conditions and internal capabilities of the organization, where strengths and weaknesses are internal factors and opportunities and threats are external factors. Practical and suitable strategies are deduced from this method (Table 1).

The strategic SWOT analysis method includes actions and plans that result in maximizing opportunities and strengths and minimizing weaknesses and threats. This is one of the most important tools for adapting the strengths and weaknesses of the organization to the opportunities and threats, and provides a systematic analysis to identify the factors in choosing the right strategy. The current research uses the integrated method of SWOT and AHP in order to normalize the weights of the factors in each category of

the four SWOT groups.

In order to identify the factors affecting the fire risk of the studied forest park, first a list of strengths, weaknesses, opportunities and threats of fire was prepared in the form of a questionnaire and then it was confirmed by a group of elites and professors in fields related to environment and forestry. The number of questionnaires was estimated using Krejcie and Morgan's table. In order to reduce the error rate, the maximum number of expert groups was used and 35 questionnaires were distributed and 30 questionnaires were returned, which resulted in the finalization of 20 factors affecting fire risk in the study area.

Based on the identified weaknesses, strengths, opportunities and threats, fire risk management strategies were obtained based on the SWOT matrix table (Table 1). To determine the normal weight of each factor and SWOT strategies, the AHP analysis model was used through questionnaires and experts' opinions. SWOT factors and strategies were scored using a 5-point Likert scale (1=very little importance, 2=low importance, 3=moderate importance, 4=high importance and 5=very high importance). In the AHP process, pairwise comparisons were made using a scale ranging from equally preferred to extremely preferred in Expert choice software (Table 2).

Table 1. Types of SWOT analysis strategies

External factors  Internal factors	Opportunities (O)	Threats (T)
Strengths (S)	Aggressive strategy	Conservative strategy
Weaknesses (W)	Competitive strategy	Defensive strategy

Table 2. Pairwise comparison in AHP analysis model (Fataei, 2013)

Degree of significance in pairwise comparison	Numerical value	
Equally Preferred	1	
Equal to relatively preferred	2	
Relatively preferred	3	
Relatively to strongly preferred	4	
Strongly preferred	5	
Strongly to very strongly preferred	6	
Very strongly preferred	7	
Very strongly to extremely preferred	8	
Extremely preferred	9	

# 3. Results

# 1.3. Strengths, weaknesses, opportunities and threats effective in fire

Based on the investigation of the existing situation of the region, effective criteria on fire management in the studied forest park areas were identified. The result of this stage was the identification of 20 factors, separated by strengths, weaknesses, opportunities and threats, affecting the fire risk management of the forest park in the southern slopes of Alborz (Table 3).

# 3.2. Prioritization of strategies for fire risk management

The strategies derived from the weaknesses, strengths, opportunities and threats based on the SWOT matrix, which included nine management strategies in dealing with the risk of fire in the forest park on the southern slopes of Alborz, were prioritized using the AHP analysis model and Likert scale coefficient (Table 4).

 $\textbf{Table 3.} \ Prioritization \ of \ effective \ criteria \ on \ crisis \ management \ and \ forest \ fire \ risk \ management \ in \ the \ framework \ of \ SWOT \ analysis$ 

				•
SWOT groups	Factors of each group	Relative weight	Likert	Weighted
5 WO1 groups	ractors of each group	of AHP	score	score
Strengths	$S_I$ : Easy access to forest park	0.154	5	0.77
	$S_2$ : Experiences of personnel	0.078	5	0.39
	$S_3$ : Cooperation of media and social networks	0.125	3	0.375
	$S_4$ : Ease of action	0.091	3	0.273
	S <sub>5</sub> : Public participation	0.058	4	0.232
Weaknesses	$W_I$ : Lack of budget	0.153	3	0.459
	$W_2$ : Failure to establish water tanks	0.094	4	0.376
	$W_3$ : Absence of suitable rescue base	0.093	4	0.372
	$W_4$ : Failure to inter-departmental coordination	0.088	3	0.264
	W <sub>5</sub> : Failure to closely monitor the Natural Resources Authority	0.078	3	0.234
Opportunities	$O_l$ : Existence of road networks	0.152	5	0.76
	O <sub>2</sub> : Increasing public belief regarding the vulnerability of forest areas	0.099	4	0.396
	O <sub>3</sub> : Presence of military and police forces and Red Crescent	0.087	4	0.348
	O <sub>4</sub> : Increasing attention to non-governmental organizations (NGOs)	0.093	3	0.279
	$O_5$ : Proximity to Tehran province	0.070	3	0.210
Threats	$T_l$ : Decrease in the motivation and interest of volunteers and the public	0.139	3	0.417
	$T_2$ : Failure to operational readiness at times	0.137	3	0.411
	$T_3$ : Increase in maintenance costs	0.069	4	0.276
	$T_4$ : Incompetence of executive bodies	0.127	2	0.254
	$T_5$ : Failure to use the private sector in forest park management	0.058	4	0.232

Table 4. Prioritization of fire risk management strategies in the forest park in the southern slope of Alborz using AHP method and Likert scale

Management type	Criteria	AHP relative weight	Likert score	Weighted score	Ranking
Risk management	Planning in accordance with the degree of fire risk for each area and preparing fire control management plans for each part of the forest park	0.143	5	0.715	1
	Deploying quick reaction force and firefighting equipment at the appropriate point of the forest park	0.137	5	0.685	2
	Updating knowledge in the field of fire risk management	0.127	5	0.635	3
	Periodic trainings for local communities to reduce the risk of fires caused by anthropogenic factors	0.139	4	0.556	4
	Designing or modifying fire break line in order to prevent fire spread	0.152	3	0.456	5
	Using the capacity of mass media and social networks to attract public participation	0.125	3	0.375	6
	Establishing forest aid bases in areas with higher fire risk (problems related to the settlement of people in the area)	0.093	4	0.372	7
	Construction of fire lookout towers	0.094	3	0.282	8
	Institutionalizing the presence of NGOs and trusting them during fires	0.093	2	0.186	9

#### 4. Discussion

Examining the weaknesses, strengths, opportunities and threats in the fire risk management of the forest park in the southern slopes of Alborz (Table 3) showed that the most important influential factors in fire risk management solutions, in order of the highest relative weight, were "easy access to forest park" (0.77) in the strength group, "lack of budget" (0.459) in the weakness group, "existence of road networks" (0.76) in the opportunity group, "decrease in motivation and interest of volunteer and public forces" (0.417) in the threat group. Local people are an integral part of the forest system and its related ecosystem and are considered as an essential element in forest management. Failure to pay attention to this issue makes it impossible to achieve the goals of the plan and causes a more negative attitude towards the forest, natural resources, and ultimately failure in cooperative management plans (Zandbasiri, 2010).

Ghazanfar Pour et al. (2017) concluded that one of the weaknesses in fire risk management in the forests of Golestan, Iran, was "the lack of funds for the proper management of fire suppression", which has caused a weakness in providing adequate manpower, and necessary equipment to contain the fire and inform the people. In addition, the absence of forest aid stations as a fire management center has been one of the weaknesses of fire control management in these forests. However, in the aforementioned research, the existence of road networks, quick access, and identification of fire-prone spots have been identified as a good opportunity in fire management. Zarekar et al. (2013) reported "construction of fire lookout towers, especially in fire-prone areas" as one of the effective solutions for fire control.

Further, the most important fire risk management strategies obtained from the SWOT matrix and their evaluation through the AHP method and scoring with a Likert scale (Table 4), respectively, were "planning in accordance with the degree of fire risk for each part of the forest park" (0.715), "deploying quick reaction force and firefighting equipment at the appropriate point of the forest park" (0.685) and "updating knowledge in the field of fire risk management" (0.635).

In the study of fire control management of Golestan forests through AHP-SWOT, Ghazanfar Pour et al. (2017) announced that cooperation between agencies can effectively help in reducing the effects of fire crisis. In addition, some factors such as fire control in a short period of time, quick access to fire extinguishing agents, professional preparation in fire control, having fire control tools, permanent presence of physical fire control forces on site, quick access to its location and quick access to the place, timely presence at the fire place and the availability of individual and collective facilities are very important in increasing the efficiency of fire suppression. Gorte and Bracmort (2012) came to the conclusion that the cooperation of media and publications and its strengthening, as well as the coordination of the crisis headquarters with the people of local areas through

holding training courses and attracting practical, material and spiritual support, increase awareness, motivation and sense of responsibility and the participation of local and popular forces in extinguishing the fire. Mohammadi et al. (2010) found that regular planning and increasing the awareness of local people, as well as the use of indigenous knowledge in forest management, are the best, cheapest, and easiest possible solutions in forest fire risk control and prevention.

#### 5. Conclusion

One of the most important factors threatening the forests of the southern slopes of Alborz, Iran, is intentional and unintentional fires that have led to the destruction of a large part of these forests in the last few years. The present study was conducted in order to identify and evaluate the most important factors affecting the fire risk in the forests of the southern slopes of Alborz and to develop management strategies using the SWOT analysis method (A'SWOT). The results of the analysis of internal and external factors affecting fire risk control with SWOT-AHP combined technique showed that "easy access to forest park", "lack of budget", "existence of road networks" and "decrease in motivation and interest of volunteer and public forces" had the highest weighted score in terms of strengths, weaknesses, opportunities and threats, respectively. Among the fire risk management strategies in the forest park, "Planning in accordance with the degree of fire risk for each area and preparing fire control management plans for each part of the forest park", "Deploying quick reaction force and firefighting equipment at the appropriate point of the forest park" and "Updating knowledge in the field of fire risk management" were identified as the first priorities.

According to the results, the A'SWOT method could identify the weaknesses, strengths, opportunities and threats and rank the fire management strategies of the forest park in the southern slopes of Alborz. In this way, it is possible to effectively play a positive role in the fire risk management of the forest park in the southern range of Alborz by using a detailed planning that includes different levels of planning and implementation (macro, basics, micro and local) and by providing specialized human resources, and the necessary hardware and software facilities, as well as the participation of local people and non-governmental organizations.

# **Authors' Contributions Conflicts of Interest**

The Authors declare that there is no conflict of interest.

#### Acknowledgements

This article has been adapted from the PhD dissertation in environmental management written by Behzad Bozorgmer at Islamic Azad University, Roudehen Branch, Rudehen, Iran. The authors would like to express their gratitude for the support of this university in the implementation of the current project.

#### References

- Abdein, Amna Abdelmoneim Elsayied. (2021). Flood Impact Assessment Using Hec-Ras and Gis Techniques Dinder River, Southeast Sudan. Water and Environmental Sustainability 1.3: 14-19. Print.
- 2. Abdolhakim, Islam. (2021). Assessing the Overwhelming Metals in Roadside Soils of Fundamental Roads in Jos City, Nigeria. Water and Environmental Sustainability 1.3: 1-6. Print.
- Achebe, Kingsley Mohammed, and Olagunju. (2021). Employing Spider Webs for Environmental Investigation of Suspended Trace Metals in Residential and Industrial Areas. Water and Environmental Sustainability 1.4: 22-26. Print.
- 4. Fataei E, (2015) Feasibility Study of Border Industrial Town Using AHP and TOPSIS. Iranian Journal of Geography and Development. 12 (37): 181-194.
- 5. Fataei E, Alsheikh A, (2009) Locating solid waste landfills using GIS and AHP. Environmental Science, 6: 145-158.
- Fataei E, Samadi Khadem R, Ojaghi Aghchehkandi A, (2022) Determining the Optimal Urban Waste Management Strategy Using SWOT Analysis: A Case Study in MeshginShahr, Iran. Journal of Advances in Environmental Health Research. doi: 10.22102/ jaehr.2022.321446.1265
- Fataei E, Torabian A, Hosseinzadeh KM, Alighadri M, Hosseinzadeh S, (2013) Selection of Optimum Municipal Wastewater Treatment Process Using AHP (Case Study: Ardebil, Tabriz, and Uremia). Journal of Health and Hygiene, 4(3): 260-272.
- 8. Gazmeh, H. (2012) Modeling forest fire spread using cellular automata. Dissertation for Master's Degree in Geographical Information System, Khajeh Nasir al-Din Toosi University of Technology, Tehran, Iran.
- 9. Ghasemi Aghbash F, Fataei E, (2006) The study of the effect of forest management on biodiversity of woody species in Fandoghloo Forest. Pajouhesh-Va-Sazandegi, 19(2):11-18. (in Persian)
- 10. Ghazanfar Pour H, Hasanzadeh S, Hamedi M, (2017) Fire control management at the northern forests of Iran (Case Study: Golestan forest). Journal of Natural Environmental Hazards, 5(10), 61-78. https://www.sid. ir/fa/journal/ViewPaper.aspx?id=279526
- 11. Gorte Ross W, Bracmort K, (2012) Forest Fire/Wildfire Protection, report, Washington D.C.
- 12. Gorte W, Bracmort K, (2012) Forest fire/wildfire protection. Congressional Research Service, 27p.
- 13. Haji Alizadeh J, Fathi MH, Rashidi A, Hessari E, (2011) Assessment of environmental capabilities and risks using the SOWT strategy management model (case study: Akhund Qeshlaq village, Iran). The first international conference of students of geography and earth sciences of Iran, Payam-e Nour university of Saggez, Iran.
- 14. Hewitt, Erica. "Ecological Plunging and Wireless Filming for Science Education: A New Zealand Pilot

- Experimeent." Water and Environmental Sustainability 1.1 (2021): 24-29. Print.
- 15. Hosseinali F, (2007) Forest fire simulation system using geographic information System. MSc thesis, Faculty of Engineering, Tehran University, 82 p.
- Jellouli O, Bernoussi AS, (2022) The impact of dynamic wind flow behavior on forest fire spread using cellular automata: Application to the watershed BOUKHALEF (Morocco). Ecological Modelling, 468: 109938.
- 17. K. Kabir, S.M.A. Arefin, and M. T. Hosain. "Analysis of Momentary Variations in the Quality of Water on Specific Criteria in Cole Mere." Water and Environmental Sustainability 1.1 (2021): 8-12. Print.
- 18. Karasakal A, Talib N. "Cadmium Ions Removal Analysis from Wastewater Utilizing Salvadora Persica Stem's Activated Carbon." Water and Environmental Sustainability 2.2 (2022): 1-5. Print.
- 19. Kargar M, Jafarian Z, Taheri A, (2019) Evaluation of factors affecting the exploitation of pastures with emphasis on Analytical Hierarchy Process-strategic factors (AHP-SWOT) (case study: pastures of Eshthard city, Alborz province, Iran). Iranian Journal of Natural Resources, 72(4): 1049-1060.
- 20. Kazana V, Kazaklis A, Stamatiou C, Koutsona P, Boutsimea A, Fotakis D, (2015) SWOT analysis for sustainable forest policy and management: a Greek case study. International Journal of Information and Decision Sciences, 7(1): 32-50.
- 21. Maingi JK, Henry MC (2007) Factors influencing wildfire occurrence and distribution in eastern Kentucky, USA. Int 738 J Wildland Fire, 16:23–33.
- 22. Miraki M, Akbarinia M, Ghazanfari H, Ezzati S, Haidari A, (2014) Presentation of management solutions for firefighting, using the decision support system at Northern Zagros forests (Case study: Marivan forests). Iranian Journal of Forest and Poplar Research, 21(4):742-755.
- 23. Mohammadi, F, Shabanian N, Pourhashemi M, Fatehi P, (2010) Forest fire risk mapping using silvopasture adaptation in south-central florida: an application of SWOT-AHP method. Agricultural Systems, 81: 185-199.
- 24. Nami D, Fataei E, Nejaei A, Zaeimdar M, (2017) Evaluation of environmental potential in Parsabad, Moghan for urban development using GIS and AHP. Journal of Environmental Science and Technology, 19(5): 475-486.
- 25. Pourtaheri M, Sobhani Gheydari H, Sadeghlou T, (2011) Comparative assessment of environmental risk ranking methods in rural areas (Case study: Zanjan province, Iran). Journal of Rural Research, 2(3): 31-54.
- Sarvar R, Khaliji MA, Fathi MH, (2012) Assessment of environmental capabilities and risks using AHP-SWOT model (case study: Ganbarf village, Osku County, Iran). Geographical Journal of Territory, 9(36): 61-77.
- Sharifiyan Bahraman A, Barani HA, Abedi Sarvestani A, Haji Mollahoseini A, (2014) Identification and Comparison of Components Influencing Rangeland

- Exploitation from Pastorals and Experts' Viewpoints Using SWOT and AHP. Journal of rangeland science, 4(4): 257-269.
- 28. Sun, Xiaozhou, and Majid Khayatnezhad. "Fuzzy-Probabilistic Modeling the Flood Characteristics Using Bivariate Frequency Analysis and A-Cut Decomposition." Water Supply 21.8 (2021): 4391-403. Print.
- 29. Taleai M, Mansourian A, Sharifi A, (2009) Surveying general prospects and challenges of GIS implementation in developing countries: a SWOT–AHP approach. Journal of Geographical Systems, 11: 291-310.
- 30. Wang, Chen, Yizi Shang, and Majid Khayatnezhad. "Fuzzy Stress-Based Modeling for Probabilistic Irrigation Planning Using Copula-Nspso." Water Resources Management 35 (2021): 4943-59. Print.
- 31. Wang, Shicheng, et al. "An Optimal Configuration

- for Hybrid Sofc, Gas Turbine, and Proton Exchange Membrane Electrolyzer Using a Developed Aquila Optimizer." International Journal of Hydrogen Energy 47.14 (2022): 8943-55. Print.
- 32. Zandbasiri M, Ghazanfari H, (2010) An identifying the major factors affecting on developing and management of Zagros forests. Iranian Journal of Natural Recourses, 2(2): 127-138.
- 33. Zarekar A, Kazemi Zamani B, Ghorbani S, Jafari M, (2013) Mapping Spatial Distribution of Forest Fire using Artificial Neural Network (forests of Zagros region, Izeh city). Iranian Journal of Applied Ecology. 1(2): 75-86.
- 34. Zheng, Ruonan, et al. "Comparative Study and Genetic Diversity in Salvia (Lamiaceae) Using Rapd Molecular Markers." Caryologia 74.2 (2021): 45-56. Print.